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0.2

e
o
=
N
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

|
11 Tl
_| —=— DQM_V0001_R000000001__Global__mkFit_baseline

—— DQM_V0001_R000000001__Global__mkFit_var
—— DQM VOOOl R000000001__Global__mkFit_jcoreNoClean

I
IE
TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.2
0 0.18F
= E
o
z 0.16F
20.14F
> o
20.12F
0.1F
0.08F
0.06F
0.04F

0.02

efticie

Ratio

1073 1072 107t
AR(TP, jet)

Efficiency vs pu

50.02
o
9.018
d.016
(]
®.014
t -
%.012

A
0
000
0004
o i

1.0

Ratio

09024 6 8 10 12 14 16 18 20
Pileup



	Contents
	Page 1


